
1) (14 - 14) x 72 x 8

Answer: ____________

2) 9892 - 6313

Answer: ____________

3) 12 ÷ 18 x 42 + 15

Answer: ____________

4) 7043 - 6780

Answer: ____________

5) 4836 - 4263

Answer: ____________

6) (3 - 17) + (6 x 22)

Answer: ____________

7) 7963 - 7514

Answer: ____________

8) 9832 - 9818

Answer: ____________

9) 132 x 5 - (17 x 9)

Answer: ____________

10) 7 - 2 x 32 ÷ 8

Answer: ____________

11) 8865 - 8036

Answer: ____________

12) 9559 - 8603

Answer: ____________

13) (19 - 2) + (17 x 13)

Answer: ____________

14) 9970 - 9930

Answer: ____________

15) (9 - 19) - 2 x 162

Answer: ____________
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16) 9807 - 9429

Answer: ____________

17) (12 + 10 ÷ 102) x 11

Answer: ____________

18) 9781 - 6403

Answer: ____________

19) 16 x 20 x (72 + 20)

Answer: ____________

20) 19 x 162 - 20 - 16

Answer: ____________

Total: ___ / 20
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Answers:

1) 2) 3579 3) 4) 263 5) 573 6) 7) 449

8) 14 9) 10) 11) 829 12) 956 13) 14) 40

15) 16) 378 17) 18) 3378 19) 20)
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